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2.
LNG- 4 8-3
12
11
0.4 1o
49
A 18
7 ;;‘
E\lp 46 X
_5 m
-4
13
12
0 ! C NN
S ¢ 700 600 500 400300200100 0
He(Oe)
8-2
8-3 LNG-4
B,S, =H,!,.G
Bd-ImG-tanG 8-6
Hy S»
B,— Gs
H,— Oe

| —— cm



170

S, — cn?
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S—— cn?
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S, cnt’
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Ho = KfS,
Ho—— Oe

a/b=1.31 K=0.89

alb=1 K=1

a/b<1.31 K=1.12
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I | P
f=1+2{1.7P, —=—+0.63l /2+o.25]
Sg IFe+|g I
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P,— cm
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| —— cm
|— cm
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B
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5|1 7P
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=4.66
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1
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-1.94+5.09-0.76 +4.99- 5.59 +2.10
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H
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&:4ﬂ_ 1

H,” N
_4x3.14
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-1=2.23
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l,=1.5cm 1,=3.2cm |,=9.0cm [=2.5cm
P,=19.4cm P,=34cm
a/b=8.5/6.5=1.31

L//S=2I,//S=0.86 N=3.61

By _4m-3.61 _
H, 3.61 =2.5
B, =2650 Gs
2 %2650 x8.5%x6.5 _
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3
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Hy= e 8- 13
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8-13 h.=1.5cm 2.0cm
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1.5 5385 5200 3.6
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4260 3900 9.2
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5600 5355 4.8
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